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(15} 1. Is “he monetary authority eble to twist the wvield curve
(i.e. the term structurs of interest rate) from g positive

slope to a negative slope ?

(g%

{157 2, 1n order to stimulate the slack economy, the sovernment
decides fo increase its spendiog. Flease aunalyze the
impact cf each fimancing method upon interest rate and

rea- cutput.

(€0; 3. The efficilency waege model is specified by
production functiomy g = £(eM) , 1> O, 'Y< O
afficieucy function: e = e¢(W/P) , e'> 0
Wwhere e=worker effort, N-lsbor, eN-efficiency labor,
Wsnominal wage, P=price level, ¥ = rea| output,
1. How do we determine the efficieticy wage ? Does this |
represent 4 resl wage rigidify or a nominal wage rigldity?
1i. How do we derive the aggregate 3upply curve
iii. Is it pessible for an unemployed worker o lower Eis
desired wage to obrtain a Jjob in this codel 7

17, Does the lahor market clear in thiz model %
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4. {20%) Consider an coonomy whore each person lives fur two petiods, The utility

finction of a representaijve agent, is
n{cy, o) = ltiey + bieg

where ¢ is consutnption when young and ¢y is consumption when old. The
production function is _

',Eg" — E_l_.-'q
where y is the anound of outpd per worker and & is Lhe amount. of capital per

worker. People work when young and retire when olld. Assnme that both labor

and capital are paid their marginad prodnets.

1, Express the gross mterest rate, B, and wage rate, w, as fanctions of &,

[2) Solve for the consumption and saving when yvoung as funcrions of wage
ineoine and gross ineerest rate,

(3] Consider two types of taxes — a wage income tax at rale & which Lakes A w
fram each worker, and a tax on Lhe gress inlerest rate at rate 9. Express
the consumption and Saving when voung as functions of Wage inoone, gross
intercst. rate, und the tax rates.

(1) Consider instead two lump-sum taxes  a lax of 7 oo each YOUNE [FET¥OT
and u tax of 72 on each old person. Supposc that geverminent spending has
no effest. an pEDPlE’E ’1tﬂit}-'- Lot g1 Al Jo dennie EOVerInent spEIld.illg HE
capita in periced 1 and period 2. Show thal {or a fixed level of govermnmoent
spetdding, a deficit-Ananced tax oot (e, sovernment reduees 1axw m penod 1
brut raises tax in perivd 2] have o effect on consumuption and interest rate.
{Hamd Find the governmoent’s Wetine hudget, onnstzaaes e

3. (15%) Consider an cconomy with overlapping generations of iwo-period lived peo-
ple (Le., in each period of time, there are young persons and old persuns in
the ceoncmy]. Assnne that people have endowments of y gaods when young
and i, goods when old. Suppose that young people face a pross real interest
rate i, Consider a “pay-as-¥ou-go” social security plan that cojlects [ goods
from cach young person avl digtribute these gonls evenly to old penple The
gross pomlation growth rate i o We assnme that conanmption when yomng atud
comsnmption when old are both normal goods. Find the effact of this plan on
the lifetime wealth of future generatjons, consumption when voing apd old, and
saving by the young in each of the following cases:
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{1} Population 18 constant and B > 1.

(2) Population grows at the rate n > f.
6. (15%} Suppose that the production finction is
Y, = AK°LI™ gca<l

where ¥, # and L denote ompur, capital and labor, respectively, and A could
be interproted as “knewledpe”  Outpat iy divided between consumption &nd
mvestmens.. One andt of output devoted to juvestment vields one unit of new
capital but existing capital deprecisies al rate 8. Suppose that the population
grows at rate ri. 15 the steady state where rapital per workey (X/L) is at a
constant Jevel, find the growth rate of outpiut per worker for the following cases:

{1} "Knowledge” 18 at a constant level {4, = 4 for all time £},

[2) “knowledge” ¢rows at tate e.



